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Under non-cooperative games, it is

(A) Essential to understand one’s opponent’s point of view

(B) Not essential to understand one’s opponent’s point of view

(C) Essential to understand one’s opponent’s point of view and to deduce the likely
responses accordingly

(D) Essential to understand one’s opponent’s likely responses

Answer: (C) Essential to understand one’s opponent’s point of view and to deduce the
likely responses accordingly

Explanation: In non-cooperative games, players act independently but strategically.

To optimize outcomes, they must consider what others are likely to do (anticipate
responses), even without cooperation.

This is the basis for Nash equilibrium and other non-cooperative strategies.

32. Which of the following methods of selecting strategies is consistent with risk averting

33.

behaviour?

(A) If two strategies have the same expected profit, select the one with smaller standard
deviation

(B) If two strategies have the same standard deviation, select the one with smaller
expected profit

(C) If two strategies have the same standard deviation, select the strategy with larger
coefficient of variation

(D) If two strategies have different expected profits, select the one with the larger
standard deviation

Answer: A) If two strategies have the same expected profit, select the one with smaller
standard deviation

Explanation: A risk-averse decision-maker prefers lower risk when returns are equal.
Standard deviation measures variability; smaller deviation means less risk and hence
preferred by risk-averse individuals.

Match the following:

(a) Various combinations that a consumer can purchase

(b) Various combinations of two commodities providing equal satisfaction to consumer
(c) A set of indifference curves

(d) Point of tangency of a budget line on an indifference curve

List-II:
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35.

36.

(1) Indifference map

(1) Indifference curve

(iii) Budget line

(iv) Consumer’s equilibrium

Answer: D) A-I1I, B-II, C-1, D-IV

Explanation: The budget line shows all affordable combinations; indifference curves
represent equal satisfaction levels; a group of these curves is an indifference map, and
their tangency with the budget line indicates consumer equilibrium.

The inconsistency of which one of the following criteria is labelled as Scitovsky
Paradox?

(A) Little criterion

(B) Pareto criterion

(C) Bergson criterion

(D) Kaldor—Hicks criterion

Answer: D) Kaldor—Hicks criterion

Explanation: The Scitovsky Paradox arises when the Kaldor—Hicks compensation tests
produce contradictory results. It exposes inconsistency in welfare improvements
assessed through compensation tests.

General equilibrium analysis determines

(A) Prices & quantities in all markets simultaneously

(B) Prices & quantities in all markets simultaneously and explicitly takes feedback
effects into account

(C) Feedback effects

(D) Prices in all markets

Answer: B) Prices & quantities in all markets simultaneously and explicitly takes
feedback effects into account

Explanation: General equilibrium analysis studies how all markets in an economy are
interlinked and determine prices and quantities together, considering feedback effects
among markets.

The demand curve for labour (competitive firms) is determined by

(A) The opportunity cost of workers’ time

(B) The value of marginal product of labour

(C) Offsetting income and substitution effect

(D) The value of marginal product of capital

Answer: B) The value of marginal product of labour
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39.

Explanation: For a profit-maximizing firm, the demand for labour depends on the value
of the marginal product of labour (VMP). The firm hires workers up to the point where
wage = VMP.
Pareto’s marginal condition for efficiency in composition of output (product-mix)
requires
(A) MRTS
(B) MRS xy A= MRS xy B
(C) MRT xy = MRS xy
(D)MRTSLK=PK/PL
Answer: (C) MRT xy = MRS xy
Explanation: Pareto efficiency in product mix occurs when the marginal rate of
transformation (MRTP) between goods equals the marginal rate of substitution
(MRS) for all consumers, ensuring harmony between production and
consumption preferences.
As income falls, consumption declines but proportionately less than the decrease in
income because the consumer desires to sustain previous standard of living. This is
called
(A) Ratchet effect
(B) Wealth effect
(C) Demonstration effect
(D) Income effect
Answer: A) Ratchet effect
Explanation: The Ratchet Effect, proposed by Duesenberry, indicates that consumption
habits are “sticky.” When income falls, consumers try to maintain earlier consumption
levels to sustain their lifestyle, so consumption decreases less than income.
Liquidity approach is also known by the name
(A) Gurley—Shaw approach
(B) Radcliffe approach
(C) Traditional approach
(D) Monetarist approach
Answer: B) Radcliffe approach
Explanation: The liquidity approach was emphasized by the Radcliffe Committee (1959)
in the UK. It focused on overall liquidity and credit availability in the economy rather

than the narrow concept of money supply.
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Vertical equity in taxation means that

(A) People in different income groups should be taxed equally

(B) People in different income groups should be taxed differently

(C) People in different groups should be charged proportionately

(D) Unequal people should be treated equally

Answer: B) People in different income groups should be taxed differently
Explanation: Vertical equity means that individuals with higher ability to pay (higher
income) should bear higher taxes. It ensures fairness by taxing unequals unequally,

usually through progressive taxation.

. The long-term chronic unemployment arising from imbalance between skills and other

characteristics of workers in the market and the needs of employers is known as

(A) Cyclical unemployment

(B) Frictional unemployment

(C) Structural unemployment

(D) Seasonal unemployment

Answer: C) Structural unemployment

Explanation: Structural unemployment arises from a mismatch between workers’ skills
or locations and the requirements of available jobs. It is long-term and results from
structural changes in the economy such as technology shifts.

According to Marshall-Lerner condition for the foreign exchange market to be stable,
the sum of the elasticities of demand for imports and exports should be

(A) Less than 1

(B) Equal to zero

(C) Equal to 1

(D) More than 1

Answer: D) More than 1

Explanation: The Marshall-Lerner condition states that currency depreciation improves
the trade balance only if the sum of export and import demand elasticities exceeds one. It
ensures responsiveness of trade flows to price changes.

In J. Robinson’s growth model, capital accumulation depends on
(A) Savings—income ratio

(B) Profit-wage relation and labour

(C) Profit—income ratio and capital

(D) Productivity savings—investment ratio

Answer: B) Profit—wage relation and labour



Explanation: In Joan Robinson’s model, growth is driven by capital accumulation
determined by profits, which depend on the distribution between wages and profits and
the level of employment.
44. Which of the following is not a method of debt redemption?
(A) Refunding
(B) Repudiation
(C) Sinking fund
(D) Capital levy
Answer: (B) Repudiation
Explanation: (B) Repudiation (NOT a Method): This is the refusal by a sovereign
borrower (a government) to acknowledge or pay its debt obligations. It is a form of
default and a breach of contract, which, while it ends the debt obligation, is not
considered an orderly or standard method of redemption. It severely damages the
borrower's credit rating and international reputation
45. Consider the following statements regarding the Periodic Labour Force Survey (PLFS)
A. Itis launched by National Statistical Office (NSO)
B. Itisa bi-annual survey held in both urban and rural areas

C. It collects data through both Current Weekly Status and Usual Principal Status

(A) 1 and 2 only
(B) 2 and 3 only
(C) 1 and 3 only
(D)1,2and 3

Answer: C) 1 and 3 only
Explanation: The PLFS is conducted by the NSO. It uses Current Weekly Status (CWS) and
Usual Principal Status (UPS) to measure employment. It is annual for rural areas and quarterly

for urban areas, not bi-annual.
46. Which among the following can decrease the Current Account Deficit (CAD)?
1.Reducing global oil prices
2.Increasing demand for Indian agricultural products abroad
3.Increasing tariff on smart phones from China

4.Curbing the import of gold
Answer: D) 1,2,3 and 4

Explanation: All listed actions can reduce CAD: lower oil prices reduce import bills; higher



export demand increases inflows; import tariffs and gold curbs reduce foreign exchange

outflows.

47.Who among the following is called the Blue Collar Worker?

(A) Working class persons who perform manual labour

(B) Working class persons in fisheries and aquaculture industry

(C) Working class persons performing office work

(D) A service worker whose labour relates to customer interaction

Answer: A) Working class persons who perform manual labour

Explanation: Blue-collar workers engage in manual or industrial work, such as factory,
construction, and maintenance jobs. White-collar workers do office work, while pink-collar
jobs involve services.

48. Match the following:

(a) Theory of big push

(b) Warranted rate of growth

(c) Social dualism

(d) Endogenous growth theory

List-II:

(1) J. H. Boeke

(i1) Paul Romer

(ii1) Rosenstein Rodan

(iv) R. F. Harrod

Answer: C) A-I11I, B-1V, C-1, D-II

Explanation: Rosenstein Rodan proposed the “Big Push” theory; Harrod developed the
warranted growth rate concept; Boeke explained social dualism; Romer formulated
endogenous growth theory.

49. Match the following:

(a) ICICI

(b) IRBI

(c) IFCI

(d) IDBI

List-II:

(1) 1971

(i1) 1964

(iii) 1955

(iv) 1948



Answer: C) A-II1, B-1, C-1V, D-II

Explanation: ICICI was founded in 1955, IRBI in 1971, IFCI in 1948, and IDBI in 1964 to
promote industrial finance and development in India.

50. An increase in fiscal spending leads to

(A) A shift of Phillips curve to the left

(B) A shift of Phillips curve to the right

(C) Movement along the Phillips curve such that employment rises and inflation also rises
(D) Unemployment will rise and inflation will reduce

Answer: C) Movement along the Phillips curve such that employment rises and inflation also
rises

Explanation: Higher fiscal spending increases aggregate demand, causing lower
unemployment but higher inflation. This results in an upward movement along the short-run

Phillips curve, representing the inflation—unemployment trade-off.

51. Match the following

List-I:

(a) Accelerator and multiplier interaction

(b) Cambridge approach

(c) Life cycle hypothesis

(d) Efficiency wage model

List-II:

(1) Modigliani, Ando and Brumberg

(i1) Akerlof and Yellen

(i11) Paul Samuelson

(iv) Alfred Marshall and A C Pigou

Answer: B) A-I11, B-1V, C-1, D-II

Explanation: Samuelson analyzed the interaction of multiplier and accelerator; Cambridge
approach is associated with Marshall & Pigou; Life cycle hypothesis is by Modigliani, Ando &
Brumberg; efficiency wage model is by Akerlof & Yellen.

52. In the short run, a perfectly competitive firm will shut down production if:
(a) Price > Average Variable Cost

(b) Price = Average Total Cost

(c) Price < Average Variable Cost

(d) Price > Marginal Cost

Answer: C) Price < Average Variable Cost



Explanation: A firm shuts down if the market price is below AVC because it cannot cover

variable costs, minimizing losses by stopping production.

53. In an open economy input-output model, the viability is examined by
(A) Hawkins-Simon conditions
(B) Kuhn—Tucker conditions
(C) Dickey—Fuller test
(D) Goldfeld—Quandt test
Answer: A) Hawkins-Simon conditions
Explanation: Hawkins-Simon conditions ensure that the input-output system has a
positive solution for production levels, guaranteeing economic viability.
54. 24. Standard Error (SE) of sample mean in random sampling from an infinite population

or in random sampling with replacement is given by
A. SE=c*\n
B. SE =o/(n?)
C. SE=c*An

D. SE=c/\n
Answer: D) SE = 6/\n
Explanation: The standard error of the sample mean is the population standard deviation

divided by the square root of the sample size.

55. The IRR is the discount rate that equates the project NPVto  and benefit-cost ratio
to
(A) 1,0
(B) 0,1
(C)0,0
(D) 1,1
Answer: B) 0,1
Explanation: IRR is the discount rate at which NPV = 0; at this rate, the benefit-cost ratio
equals 1, indicating the break-even point of investment.
56. Match the following
Type-I:
(a) Thomas Doubleday
(b) Thomas Sadler

(c) Leibenstein
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(d) Herbert Spencer

Type-I1:

(1) Destiny theory

(i1) Biological theory

(ii1) Diet theory

(iv) Motivation theory of population growth

Answer: C) A-I11, B-1, C-1V, D-1I

Explanation: Doubleday promoted diet theory; Sadler emphasized destiny theory;
Leibenstein focused on motivation theory; Spencer is known for biological theory of
population.

Which among the following are a component of PM eVID YA scheme
DIKSHA

NROER

PRAGYATA

MANODARPAN

Answer: D) 1,2,3 and 4

Explanation: PM eVID YA integrates DIKSHA (digital learning), NROER (resources),
PRAGYATA (guidelines), and MANODARPAN (mental health support).

Under TRIPS protection for copyrights is for

(A) 20 years after the death of the author

(B) 30 years after the death of the author

(C) 40 years after the death of the author

(D) 50 years after the death of the author

Answer: D) 50 years after the death of the author

Explanation: TRIPS mandates that copyright protection lasts 50 years posthumously to
safeguard authors’ rights internationally.

Second National Commission on labour has recommended a three-tier system including
(A) Lok adalats, labour courts and labour commissions

(B) Lok adalats, labour courts and labour relations commissions

(C) Lok adalats, labour courts and judicial courts

(D) Lok adalats, labour courts and labour inspectors

Answer: B) Lok adalats, labour courts and labour relations commissions

Explanation: The Commission suggested a three-tier system to resolve disputes
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efficiently, including informal Lok adalats, formal labour courts, and higher labour
relations commissions.
The ‘Hedonic Price’ method measures the value of environmental assets through
(A) Using ‘existence’ of an environmental asset
(B) Using linkages between variations of in-house prices
(C) Using WTP to value environmental assets
(D) Using WTA to value environmental assets
Answer: (B) Using linkages between variations of in-house prices
Explanation: HPM is based on the idea that environmental attributes (like clean air, water,
greenery) are reflected in the price of marketed goods (mainly houses).
By analyzing how property prices vary with environmental quality, we can estimate the
implicit monetary value of environmental assets.
Match the following
List-I:
(a) Gauss—Markov
(b) Coefticient of determination
(c) Ho: B2=0, H1: B2#0
(d) Heteroscedasticity
List-II:
(1) R?
(i1) One-sided test
(ii1) Goldfeld—Quandt test
(iv) BLUE
Answer: A) a—iv, b—i, c—ii, d-iii
Explanation: Gauss—Markov theorem identifies BLUE (best linear unbiased estimator);
R? measures goodness-of-fit; hypothesis testing uses one-sided/two-sided tests;
heteroscedasticity is detected by Goldfeld—Quandt test.
Match the following
List-I:
(a) World environment day
(b) World wildlife day
(c) World water day
(d) World population day
List-II:
(1) 11th July
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(i1) 5th June

(i11) 3rd March

(iv) 22nd March

(A) A-, B-ii, C-iii, D-iv

(B) A-iii, B-iv, C-i, D-ii

(C) A-ii, B-i, C-iv, D-iii

(D) A-ii, B-iii, C-iv, D-i

Answer: D) A-11, B-III, C-1V, D-1

Explanation: Dates are globally recognized: Environment — June 5, Wildlife — March 3,

Water — March 22, Population — July 11.

IfA=1655;3-11-5;3-5-2|, then |A| is equal to

(A) 15

(B) 16

(C) 27

(D) 20

Answer: (C) 27

Explanation: The determinant of the matrix is equal to 27.

What is the equation of corrected birth-rate

A. Corrected birth-rate = (Registered births in one year + Possible births)/Mid-year
population x1000

B. Corrected birth-rate = Live births in one year / Mid-year population x1000

9

Corrected birth-rate = Number of female births / Mid-year population x1000
D. Corrected birth-rate = (Registered births + Possible births)/Mid-year female
population x1000

Answer: A) Corrected birth-rate = (Registered births in one year + Possible
births)/Mid-year population x1000

Explanation: Registered births in one year: The number of births officially recorded during the

year.

Possible births: An estimate of the number of births that were not officially registered (i.e., the

allowance for under-registration).

Mid-year population: The estimated population at the middle of the year (usually July 1st), which

serves as the base population for the rate.

: The rate is usually expressed per thousand people.
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Match the following

List-I:

(a) Skewness

(b) Variance

(c) Earthquake

(d) F-test

List-II:

(1) Dispersion

(i1)) Random Variations

(i11) Ratio of variances

(iv) Lack of symmetry

Answer: B) A-1V, B-I, C-I1, D-III

Explanation: Skewness measures asymmetry, variance measures dispersion, earthquake
reflects random variations, F-test compares ratio of variances.

Arrange the introduction of the following taxes in India in chronological order
(a) Service Tax

(b) Income Tax

(c) Banking Transaction Tax

(d) Gift Tax

(e) Goods and Services Tax

Answer: C) b, d, a, c, e

Explanation: Income Tax (1860), Gift Tax (1958), Service Tax (1994), Banking
Transaction Tax (2004), GST (2017).

What is the CORRECT sequence of the following trade rounds?

(a) Uruguay Round

(b) Kennedy Round

(c) Doha Round

(d) Geneva Round

Answer: D) d, b,a, c

Explanation: Geneva Round (1947), Kennedy Round (1964—67), Uruguay Round (1986—
94), Doha Round (2001 onwards).

Inequalities in income are measured by which of the following?

(a) Lorenz Ratio
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(b) Theil's Index

(c) Palma Ratio

(d) Deprivation Ratio

Answer: D) a, b and c only

Explanation: Lorenz curve, Theil’s Index, and Palma ratio are standard inequality
measures; deprivation ratio measures poverty, not inequality.

Match List I with List II

(A) SEBI - 1992

(B) NSDL — 1996

(C) CRISIL — 1988

(D) ICRA - 1991

Answer: B) A-II, B-1V, C-III, D-1

Explanation: SEBI established 1992, NSDL 1996, CRISIL 1988, ICRA 1991 for
regulatory, depository, and credit rating functions.

In the classical linear regression model, Xi and Ui are assumed to be:

(A) Highly correlated

(B) Negatively correlated

(C) Not correlated

(D) Positively correlated

Answer: C) Not correlated

Explanation: Classical OLS assumes errors are uncorrelated with regressors for
unbiasedness of estimators.

Given below are two statements:

Statement [: Regression model is linear in parameters.

Statement II: Variance of error term is not constant under OLS.

Answer: C) Statement I is correct but Statement II is incorrect

Explanation: OLS assumes linearity in parameters and homoscedasticity (constant
variance).

Match List I with List IT

(A) Convex Function — Use of Derivative

(B) Input—Output Analysis — Hawkins—Simon condition

(C) Linear Programming — Basic Variable

(D) Marginal Propensity to Consume — Demand Curve

Answer: A) A-I1, B-III, C-1, D-1IV
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Explanation: Convex functions use derivatives; input-output models check Hawkins—
Simon; LP uses basic variables; MPC relates to demand curve.

Match List I with List II

(A) NIRVIK — Export credit insurance scheme

(B) Ayushman Bharat — Health programme

(C) PM Urja Ganga — Piped cooking gas project

(D) PAT Trade — Energy efficiency scheme

Answer: C) A-III, BTV, C-1, D-II

Match List I with List IT

(A) Perfect competition — Little/no difference in product

(B) Monopoly — Product without close substitutes

(C) Monopolistic competition — Many real/perceived differences

(D) Oligopoly — Identical products

Answer: C) A-II1, B-1V, C-II, D-1

Arrange the following committees appointed for the Banking sector in India in
chronological order:

(a) Urjit Patel Committee

(b) Goiporia Committee

(c) Narasimham Committee-1

(d) Chakravarty Committee

Answer: D) d, b, c, a

Chakravarty (d) Narasimham-I (c) Goiporia (b) Urjit Patel (a).

When the exchange rate changes from 1$ = Rs. 72 to 1$ = Rs. 68, then:
(a) Rupee has depreciated

(b) Dollar has depreciated

(c) Rupee has appreciated

(d) Dollar has appreciated

Answer: C) Rupee has appreciated

Explanation: Appreciation occurs when the domestic currency gains value against foreign
currency.

According to Ronald Coase, which is correct for pollution control

(A) Providing property rights to polluters and pollutees

(B) Providing property rights to legal institutions

(C) Providing property rights to the state

(D) Providing property rights to trade unions



Answer: A) Providing property rights to polluters and pollutees
Explanation: Coase theorem suggests negotiation between affected parties to solve
externalities efficiently.
78. Match List I with List II
(A) Conserving environment for future — Bequest Value
(B) Search for alternative fuels — Option Value
(C) Wood from forest — Use Value
(D) Insects for pollination — Indirect use value
Answer: C) A-II1, B-I1, C-1V, D-1
79. Arrange business cycles in ascending order of duration
(a) Kondratiev cycle
(b) Kitchin cycle
(c) Juglar cycle
(d) Kuznets cycle
Answer: B) b, c,d, a
Explanation: Kitchin (3—5 yrs), Juglar (7-11 yrs), Kuznets (15-25 yrs), Kondratiev (40—
60 yrs).
80. Given below are two statements:
Statement I: Social Welfare Function is a social indifference map.
Statement II: Social Indifference Curves may not be convex or concave.
Answer: A) Both Statement I and Statement II are correct
Explanation: SWF represents social preferences, and SICs may have non-standard shapes
depending on societal welfare trade-offs.
81. Which of the following is/are true?
(a) Ministry of Environment and Forests in India was established in 1985
(b) Central Pollution Control Board was established in 1984
(c) Environment Protection Act was enacted in 1990
(d) National Environment Appellate Authority Act was passed in 1977
Answer: A) aand d only

(@) & True — The Ministry of Environment and Forests (now MoEFCC) was established in
1985.

(b) X Incorrect — The Central Pollution Control Board (CPCB) was actually set up in 1974
under the Water (Prevention and Control of Pollution) Act, not in 1984.

(c) X Incorrect — The Environment (Protection) Act was enacted in 1986, not in 1990.



(d) « True — The National Environment Appellate Authority Act was passed in 1997, not
1977 (the year in the statement is wrong, but since the question’s

82.

83.

84.
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Arrange the following UNFCCC conferences in chronological order

(a) Copenhagen Conference

(b) Doha Conference

(c) Paris Conference

(d) Katowice Conference

Answer: A)a, b, c,d

Explanation: Copenhagen (2009), Doha (2012), Paris (2015), Katowice (2018).

The movement from old level of expenditure and taxation to a new and higher level is
called:

(A) Concentration effect

(B) Displacement effect

(C) Inspection effect

(D) All of the above

Answer: B) Displacement effect

Explanation: Displacement effect refers to the increase in income/expenditure due to
fiscal policy changes.

In case of indifference curve of two goods X and Y, as consumption of X increases:
(A) First MRSXY increases but later MRSXY decreases

(B) MRSXY increases

(C) MRSXY decreases

(D) MRSXY remains the same

Answer: C) MRSXY decreases

Explanation: Indifference curves are convex; marginal rate of substitution diminishes as
consumption of X increases.

Which method can help in obtaining a welfare improvement, if externalities exist?
(A) Assigning property rights and permitting bargaining

(B) Pigovian taxes

(C) Regulation

(D) All of the above

Answer: D) All of the above
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Explanation: Externalities can be corrected via Coase theorem (property rights), Pigovian
taxes, or government regulation.

Arrange the following Committees of poverty estimation in chronological order:

(a) Alagh Committee

(b) Lakdawala Committee

(c) Tendulkar Committee

(d) Rangarajan Committee

Answer: A) A,B,C.D

Explanation: Alagh (a) Lakdawala (b) Tendulkar (¢) Rangarajan (d).

Zero Based Budgeting (ZBB) lays emphasis on:

(a) Allocation of resources based on cost-benefit terms

(b) Unlimited deficit financing

(c) Preparing a new budget right from the scratch

(d) Preparing the budget, neglecting history of expenditure

Answer: C) Preparing a new budget right from the scratch

Explanation: ZBB evaluates all expenditures from zero base instead of previous budgets.
Liquidity Adjustment Facility (LAF) was recommended by:

(A) Bimal Jalan Committee

(B) Rangarajan Committee

(C) Narasimham Committee-II

(D) Raghuram Rajan Committee

Answer: (C) Narasimham Committee-II

Explanation: The Liquidity Adjustment Facility (LAF) is the primary tool used by the Reserve
Bank of India (RBI) to manage liquidity (money supply) in the banking system on a daily basis.
Narasimham Committee-II (1998): This committee, headed by M. Narasimham, was
formed to review the progress of the financial sector reforms initiated after the first
Narasimham Committee (1991). Among its key recommendations for modernizing India's
monetary operations was the introduction of a new system to manage short-term liquidity,

which ultimately led to the introduction of the LAF in 2000.

Arrange the following schemes/programs introduced by Government of India for
agriculture productivity in chronological order:

(a) Soil Health Card Scheme

(b) Kisan Credit Card Scheme

(c) Pradhan Mantri Fasal Bima Yojana



90.

91.

92.

93.

(d) Doubling Farmers’ Income Program

Answer: B) b, a, c,d

Explanation: KCC (1998) SHC (2015) PMFBY (2016) DFI (2016). (Note: SHC precedes

PMFBY and DFI, as it was launched in early 2015).

At present, for estimation of GDP in India at constant prices, the base year is:

(A) 2000-01

(B) 2010-11

(C)2011-12

(D) 2014-15

Answer: C) 2011-12

Explanation: Central Statistics Office uses 2011-12 as the base year for constant price
GDP estimation.

Match List I with List II

(A) Carl Friedrich Gauss — OLS

(B) Multicollinearity — Relationship among explanatory variables

(C) Mode — Central tendency

(D) Correlation coefficient — Karl Pearson

Answer: A) A-11, B-1V, C-1, D-III

Arrange the following concepts of consumer behaviour in chronological order:

(a) Law of diminishing marginal utility

(b) Law of demand

(c) Revealed Preference Analysis

(d) Indifterence Curve Analysis

Answer: B)a, b, d, c

Explanation: Diminishing MU (18th—19th century), Law of demand (19th century),
Indifterence curve (1930s), Revealed preference (1950s).

When each player has chosen his or her optimal strategy given the strategy chosen by
other players, the situation is referred to as:

(a) Wicksel's Equilibrium

(b) Prisoner's dilemma

(c) Co-operative Game
d) Nash Equilibrium
Answer: d) Nash Equilibrium

Explanation: Also called Nash Equilibrium: no player can improve payoff unilaterally.



94. A firm has total cost C = (1/3)Q° - 70Q? + 111Q + 50 and demand Q = 100 - P. Find Q

9s.

96.

97.

and maximum profit:*

(A) 50 and 100

(B) 111 and 2150

(C)11and 111 1/3

(D) 7 and 84

Answer: C) 11 and 111 1/3

Explanation: Solve MR = MC using given functions to find profit-maximizing output and
compute maximum profit.

According to Mundell, the benefits of an optimum currency area include:

(a) Greater fiscal independence

(b) Reduced transaction costs and exchange rate stability

(c) Higher inflation rates

(d) Automatic employment generation

Answer: B) Reduced transaction costs and exchange rate stability

Explanation: Optimum currency area minimizes currency conversion costs and stabilizes
exchange rates.

Assertion (A): Federal finance involves distribution of financial resources between
Centre and States. Reason (R): States in a federation are financially independent of the
Centre.

(A) Both A and R true, R correct explanation

(B) Both A and R true, R not correct explanation

(C) A true, R false

(D) A false, R true

Answer: C) A true, R false

Explanation: Federal finance concerns resource allocation; states are not fully
independent financially.

MSME:s in India are classified mainly on the basis of:

(A) Employment generated

(B) Investment and turnover

(C) Export capacity

(D) Profit earned

Answer: B) Investment and turnover

Explanation: MSMEs are categorized as micro, small, medium based on investment

limits and turnover.



98. Assertion (A): Marginal Productivity Theory assumes perfect competition in factor
markets. Reason (R): Under monopoly, factor rewards equal average revenue product.
(A) Both A and R true, R correct explanation
(B) Both A and R true, R not correct explanation
(C) A true, R false
(D) Both A and R false
Answer: C) A true, R false
Explanation: MPT requires competitive factor markets; under monopoly, factor rewards #
average revenue product.

99. Assertion (A): Horizontal imbalance in federal finance arises due to unequal resource
distribution across States. Reason (R): Richer States have more revenue capacity than
poorer States.

(A) Both A and R true, R correct explanation
(B) Both A and R true, R not correct explanation
(C) A true, R false
(D) Both A and R false
Answer: A) Both A and R true, R correct explanation
100. A multiple regression model involves:
(A) One independent variable and one dependent variable
(B) One dependent variable and two or more independent variables
(C) Two dependent variables and one independent variable
(D) Only qualitative variables
Answer: B) One dependent variable and two or more independent variables
Explanation: Multiple regression studies the effect of multiple predictors on a single
dependent variable.

101. Which Finance Commission introduced the concept of “Tax Devolution” as a
share of net proceeds?

(a) 6th Finance Commission

(b) 7th Finance Commission

(c) 10th Finance Commission

(d) 12th Finance Commission

Answer: (¢) 10th Finance Commission

Explanation: The 10th Finance Commission (Chairman: K. C. Pant) made a landmark
recommendation for a new scheme of devolution (the Alternative Scheme of Devolution), which

was later incorporated into the Constitution via the 80th Amendment (2000).



Recommendation: The Commission suggested that a fixed percentage (initially 29% for
the 10th FC's award period) of the entire net proceeds of all Central taxes and duties
(excluding cess and surcharge) should be shared with the states.

Significance: This shift created a single, consolidated divisible pool for all Union taxes,
fundamentally changing the nature of fiscal transfers and providing greater fiscal autonomy

and predictability to the states. This is the "Tax Devolution" system as it is known today.

102. Which of the following was the first industrial policy of independent India?
(a) Industrial Policy Resolution 1946
(b) Industrial Policy Resolution 1948
(¢) Industrial Policy Resolution 1956
(d) Industrial Policy Resolution 1991
Answer: B) Industrial Policy Resolution 1948
Explanation: The 1948 resolution was the first official industrial policy of independent
India to guide industrial development.
103. The Industrial Policy Resolution of 1956 is also known as:
(a) Bombay Plan
(b) Nehru Plan
(c) Economic Constitution of India
(d) People’s Industrial Charter
Answer: C) Economic Constitution of India
Explanation: The 1956 policy laid the foundation of mixed economy and classified
industries into categories for public and private sectors.
104. Assertion (A): The Industrial Policy of 1956 classified industries into three
categories. Reason (R): Category A was reserved exclusively for the private sector.
(a) Both A and R are true, and R is the correct explanation of A
(b) Both A and R are true, but R is not the correct explanation of A
(c) Ais true, R is false
(d) Both A and R are false
Answer: C) A is true, R is false
Explanation: Category A was reserved for the public sector, not private sector.
105. Which organization handles disinvestment in India?
(a) RBI
(b) SEBI
(c) Department of Investment and Public Asset Management (DIPAM)



(d) Planning Commission
Answer: C) DIPAM
Explanation: DIPAM (formerly Department of Disinvestment) manages government
equity sales and disinvestment in PSUs.
106. “Make in India” initiative primarily promotes:
(a) Foreign imports
(b) Outsourcing abroad
(c) Domestic manufacturing and MSMEs
(d) Public sector dominance
Answer: C) Domestic manufacturing and MSMEs
Explanation: Make in India aims to boost domestic manufacturing, attract foreign
investment, and support MSMEs.
107. Which statement best describes the q-theory of investment?
(a) Firms invest based solely on minimizing production costs
(b) Firms consider the expected present value of a project to make investment decisions
(c) Government intervention is necessary to determine optimal investment levels
(d) The cost of capital is the only factor influencing investment decisions
Answer: B) Firms consider the expected present value of a project to make investment
decisions
Explanation: Q-theory states investment depends on the ratio of market value to
replacement cost of capital (Tobin’s q).
108. The business fixed investment depends on:
(a) Marginal Product of capital
(b) Real rate of interest
(c) Depreciation Rate
Answer: D) (a), (b) and (¢)
Explanation: Investment decisions are influenced by expected returns (MP of capital),
borrowing cost (real interest), and depreciation.

109. Consider the following statements regarding the Retail Direct Scheme of RBI:
A. Retail investors can open a Retail Direct Gilt (RDG) account with RBI.

B. Investors can invest in both primary and secondary markets.
(A) 1 only
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2



Answer: C) Both 1 and 2
Explanation: Retail Direct Scheme allows individual investors to invest in government

securities in both primary and secondary markets.

110. Assertion (A): Fertility rate refers to the average number of children a woman
bears. Reason (R): It is a demographic indicator of population growth.
(a) Both A and R are true, and R is the correct explanation
(b) Both A and R are true, but R is not the correct explanation
(c) Ais true, R is false
(d) Both A and R are false
Answer: A) Both A and R are true, and R is the correct explanation
111. In hypothesis testing, the probability of rejecting a true null hypothesis is called:
(a) Power of the test
(b) Type I error
(c) Type II error
(d) Level of confidence
Answer: B) Type I error
Explanation: Type I error occurs when a true null hypothesis is incorrectly rejected.
112. Which of the following is a key feature of Tamil Nadu’s economy?
(a) Predominantly agrarian economy with low industrialization
(b) High agricultural productivity and industrial diversification
(c) Reliance solely on service sector
(d) Minimal urbanization
Answer: B) High agricultural productivity and industrial diversification
113. Tamil Nadu’s contribution to India’s GDP is approximately:
(a) 3%
(b) 6%
(c) 8%
(d) 10%
Answer: C) 8%

Tamil Nadu is one of India’s leading industrial and service-oriented states.
Its GDP contribution is generally estimated around 8% of India’s total GDP, though the
exact figure may vary slightly by year.



114. Which sector is the largest employer in Tamil Nadu?
(a) Manufacturing
(b) Agriculture
(c) Services
(d) Construction
Answer: B) Agriculture
115. The Dravidian Model of Development emphasizes:
(a) Rapid urbanization and neglect of rural areas
(b) Social welfare, industrialization, and inclusive growth
(c) Free-market liberalization only
(d) Agriculture-based growth with minimal industrial policy
Answer: B) Social welfare, industrialization, and inclusive growth
116. Which is a major challenge in Tamil Nadu’s agriculture?
(a) Surplus rainfall and flooding
(b) Water scarcity and over-dependence on monsoons
(c) Excessive mechanization
(d) Lack of agricultural research
Answer: B) Water scarcity and over-dependence on monsoons
117. Which sector contributes the largest share to Tamil Nadu’s GDP?
(a) Agriculture
(b) Manufacturing
(c) Services
(d) Mining
Answer: C) Services
118. More than 40 percent of factory employment was in which three states?
(a) Karnataka, Kerala, Andhra Pradesh
(b) Tamil Nadu, Gujarat, Maharashtra
(c) Uttar Pradesh, Punjab, Haryana
(d) West Bengal, Odisha, Bihar
Answer: B) Tamil Nadu, Gujarat, Maharashtra
119. Match the List I with List II
List I (Districts) — List II (Industrial Clusters)
(a) Coimbatore — Textiles
(b) Thiruvallur — Automotive

(c) Ariyalur — Cement



(d) Tiruchi — Boilers
Answer: C) (a-3), (b-4), (c-1), (d-2)
120. The nodal agency for investment promotion in Tamil Nadu is:
(a) SIPCOT
(b) TANSIDCO
(c) TIDCO
(d) Guidance
Answer: D) Guidance
Explanation: Guidance (Tamil Nadu Industrial Guidance & Export Promotion Bureau)
facilitates and promotes investment in the state.
121. Which of the following statements is true about Tamil Nadu’s educational
indicators in 2023-24?
A. Its GER for higher secondary schools is lower than the national average.
B. It ranks third in School Education Quality Index (SEQI).
C. It has the lowest dropout rate in secondary education in India.
D. Its secondary GER is below 90%.
Answer: C) It has the lowest dropout rate in secondary education in India
Explanation: Tamil Nadu is recognized for its low dropout rates and relatively high
education quality indicators.
122. A significant challenge in Tamil Nadu’s industrial sector is:
(a) Lack of labor availability
(b) Frequent labor strikes and skill mismatch
(c) Low entrepreneurship
(d) Excessive government subsidies
Answer: B) Frequent labor strikes and skill mismatch
Explanation: Industrial growth is affected by labor unrest and gaps in skilled manpower.
123. Which political party is recognized as the starting point for the organized
Dravidian movement, leading ultimately to the Dravidian Model of governance?
A) Dravida Munnetra Kazhagam (DMK)
B) All India Anna Dravida Munnetra Kazhagam (AIADMK)
C) The Justice Party (South Indian Liberal Federation)
D) The Swaraj Party
Answer: C) The Justice Party (South Indian Liberal Federation)
Explanation: The Justice Party laid the foundation for the Dravidian movement, which

later influenced DMK and AIADMK.



124. In the context of the Dravidian Model, which of the following landmark legal or
policy reforms relates to the empowerment of women?
A) Reservation for women in the Union Parliament
B) Granting of property rights to women in ancestral property
C) Abolition of the sati system
D) Mandatory women's participation in the armed forces
Answer: B) Granting of property rights to women in ancestral property
Explanation: This reform enhanced women’s economic empowerment and gender equity
in Tamil Nadu.
125. The Pudhumai Penn Scheme is a revamped version of which older scheme?
A) Tamil Nadu Girl Child Protection Scheme
B) Chief Minister’s Comprehensive Health Insurance Scheme
C) Moovalur Ramamirtham Ammaiyar Memorial Marriage Assistance Scheme
D) Amma Two Wheeler Scheme
Answer: C) Moovalur Ramamirtham Ammaiyar Memorial Marriage Assistance Scheme
126. Which of the following is a probability sampling method?
(a) Convenience sampling
(b) Snowball sampling
(c) Stratified random sampling
(d) Judgmental sampling
Answer: C) Stratified random sampling
Explanation: Probability sampling ensures every unit has a known, non-zero chance of
selection.
127. The mean, median, and mode are measures of:
(a) Dispersion
(b) Central tendency
(c) Correlation
(d) Index numbers
Answer: B) Central tendency
128. The standard deviation is a measure of:
(a) Central tendency
(b) Dispersion
(c) Correlation
(d) Regression coefficient

Answer: B) Dispersion



129. Which method is used to measure the strength and direction of the relationship

between two variables?
(a) Regression

(b) Correlation

(c) Index numbers

(d) Time series analysis

Answer: B) Correlation

130. In a simple linear regression model, Y = a + X + u, B represents:

(a) Intercept

(b) Slope coefficient
(c) Error term

(d) Standard deviation

Answer: B) Slope coefficient

131. Multicollinearity in a regression model refers to:

(a) Correlation between dependent and independent variables
(b) Correlation among independent variables

(c) Unequal variance of errors

(d) Autocorrelated errors

Answer: B) Correlation among independent variables

132. Which of the following is a non-parametric test?

133.

134.

(a) t-test

(b) Chi-square test

(c) F-test

(d) Z-test

Answer: B) Chi-square test

The method of least squares is used in:
(a) Time series smoothing

(b) Linear regression estimation

(c) Hypothesis testing

(d) Sampling

Answer: B) Linear regression estimation

In time series analysis, a seasonal variation occurs:
(a) Randomly

(b) At regular intervals within a year

(c) Over decades



(d) Only in stock markets
Answer: B) At regular intervals within a year
135. Which of the following is an example of a sequence?
(a)2,4,6,8,...
(b) {x[ x>0}
(c)y=3x+5
(d) 0.5, 0.25,0.75
Answer: A)2,4,6,8,...
a)2,4,6,8,...
Clearly an ordered list of numbers. This is an arithmetic sequence.
136. In mathematical economics, a function is:
(a) A set of unordered pairs
(b) A mapping from each element in the domain to exactly one element in the range
(c) Any collection of numbers
(d) A distribution of income
Answer: B) A mapping from each element in the domain to exactly one element in the
range
137. The Laplace transform is primarily used in:
(a) Regression analysis
(b) Solving differential equations
(c) Calculating index numbers
(d) Sampling
Answer: B) Solving differential equations
138. In a multiple linear regression model, heteroscedasticity refers to:
(a) Error terms have constant variance
(b) Error terms have non-constant variance
(c) Multicollinearity among regressors
(d) Serial correlation of errors
Answer: B) Error terms have non-constant variance
139. The input-output model in economics was developed by:
(a) John Maynard Keynes
(b) Wassily Leontief
(c) Paul Samuelson
(d) Ragnar Frisch
Answer: B) Wassily Leontief



140. In sampling theory, the standard error of the mean decreases when:
(a) Sample size decreases
(b) Sample size increases
(c) Population variance increases
(d) Population size decreases
Answer: B) Sample size increases
Explanation: Standard error of the mean is inversely proportional to the square root of the

sample size.



EDUCATION PSYCHOLOGY

S0l 2_6maillieL

Q.141) The Mid-Day Meal Scheme has been renamed as which of the following?
(A) PM Aahar Yojana

(B) PM Annapurna Scheme

(C) PM POSHAN

(D) PM Nutrition Mission

Answer: C) PM POSHAN / PM GLIT660T 619868 HIJLOM60T

Explanation: The Mid-Day Meal Scheme, a flagship programme providing nutritious meals to
school children, was renamed as the PM POSHAN (Pradhan Mantri Poshan Shakti Nirman)
scheme in 2021. The aim is to ensure better nutrition, learning outcomes, and overall health

among children studying in government and aided schools. ANETHSLD: ,I'_F)GO"UTLIBBGD

2 _6wie s SILL LD, Lemeril GLPhHenSHEhHS 291 L FFSHHM6 265016 SH60)61
QIRIGLD (PSS S L LD, 2021@ 6D PMPOSHAN (LNJHT6T WHSH GCUITaQ6H
69568 BT eT6Tm) LMIQLIIFLUULL & @&60T CHTHSHD iJ& MHMILD
o gelujL 6T @QuIRGLD UeTalldeafley LIQ&HGD GLHMSGHEHSHS HMbHS

261l_ | §&& G, HMMEL allemaTelser, nMMID L (HEWLTHSH HCITHHILSmS
2 MG QFieus).

Q.142) The main goal of the NIPUN Bharat Mission is to ensure foundational literacy and
numeracy for children by the end of which grade?

(A) Grade 1
(B) Grade 2
(C) Grade 3
(D) Grade 5
Answer: [c] Grade 3

The NIPUN Bharat Mission (National Initiative for Proficiency in Reading with Understanding and
Numeracy), launched in 2021, aims to make all children proficient in reading, writing, and basic

mathematics by the end of Grade 3.  2021-@\60 QIGTLRISLILL L NIPUNUMI& &SILL LD
URSIL 65T UTHSSHL MMILD 6TeuresMIanNed SMenLns&mest C&EL
WPWMHE), SIMeTEHS GLPHEMSHEHLD UGLIL 3-601 (LplgelleL aUTHSG6V,



S1(PSIGHL LOHMID SlgliLenL. SuNgHHeL CHIFH QUMM
ChT&sLMSS &M (heTerns).

Q.143) “Jaadui Pitara” is mainly targeted for:

“QUGMUN NGHTIT (PESHWILDTE WT([HSHHTS:

(A) Secondary school students / @[J6BOTL_ITLD [Hl6MEV LOTETOTEU TS 61T
(B) LDTGUUTEUI&6IT Parents only / QUMHCMMTI&6T LOL (HLD

(C) Teacher educators / QL EFIWT LUNDHE eT(RLIGUITT

(D) Foundation stage learners / Qg LILI6ML. [Hlemev SHmmev

Correct Answer:
[D] Foundation stage learners / Qg LILI6ML. [Hlemev SHmmeL

Reason / SITIJ600ILD:
“Jaadui Pitara” is NEP 2020 learning material kit for children of foundation stage (ages 3-8).

“omGMuT LNGSHTT 6T60TLG| NEP 2020 SilqLILIHL [Hlémev (6UWIF 3-8)
GLHMBEHERSSTET DML QUL L SLD.

Q.144) “Integral education” covering five aspects of human development is a concept
advocated by:

O6vTS eUeMTFHUNGT WHG ILDFRISMET 2 6T SHI “62 (HHIH06TH S
&e0all” 61601 &H(Hh&HNG UM SIeN:

(A) Sri Aurobindo / L) SITONBHCHT

(B) Jiddu Krishnamurti / QIL_(® &5 6196WTeLDITE &)
(C) Vivekananda / G)ﬂGG)J&':I'I'GUTEg)Ij

(D) Tagore / HMT&el]

Correct Answer:

[A] Sri Aurobindo / L), SITeNBHGCSHIT

Reason / &ITIJ680ILD:

Sri Aurobindo’s Integral Education stresses 5 aspects: physical, vital, mental, psychic, and
spiritual.

1% SITaNhCHTaN6H “6@(HRHMEIHE HeLE” 5 JLDFMHIGHEM6T
QOWMISHEMSG: 2 L 60, 2 U, LD6UTLD, 4,60TLOIT, S, 6TLOIGLD.



Q.145) Who is considered the Father of Sociology?
gepsalliedler Shemg 6T6Tml SHHSLLIRLOIT Wmy?

(A) Max Weber / GLD&EV Qleuully
(B) Auguste Comte / Q},&6MVL SHITLDL
(C) Karl Marx / &ITIJ6L LDMI&HEMN

(D) Emile Durkheim / 6TLOI6L L [J&HGISLILD

Correct Answer:
[B] Auguste Comte / Q},&6IVL SHITLDL

Reason / SITIJ680ILD:

Auguste Comte is called the Father of Sociology for coining the term and establishing sociology
as a science.

“FELPSHOILIGD” 616N GIFMELEMEV 2 (HEUTEHE), MG 2(h HMOTNIGVTS
HeneoHMIGHWIHTEL L&V SMDL “FeLPSHAINLICOGHT FHHems” eT6ur
SIMPSSLILIGH DT

Q.146) Rousseau’s educational philosophy best supports which concept?
chGamaller He0as HHGIAID 6HE &HHMS HMLILTS YSFHEHDE?
(A) Societal control / &¢Lp& &L (HLUm(H

(B) Naturalistic development/ @mﬁ)mas 6)_I6TTI'jé=é=1

(C) Industrialization of education / &606UTI6 QG TLHELLOUILDTE &6V

(D) Rote memorization / LDGUTLILIML_LD

Correct Answer:
[B] Naturalistic development / @wﬁ)mas G)JGTTI'jé:dﬂ

Reason / &IT[J630ILD:
Rousseau emphasized learning in harmony with nature and child’s natural growth.

CHGCET, GLpHenGHUNeT QUIMEMSIITET UeTIFH OMID @QUIMEDSU|L 65T
QenewihS HMHMEN6L 6UEOIL|M)ISSl6uITi].

Q.147) When was Anna University, a premier institution for engineering and technology,
established?



GC&: Qumluuled MMID CFHMHLBIL LUSHMSTe (LDGH6oTenLd HmIeUeTLOm6oT
SIGTUIEHIT LIGL&EMEVSSHLPSLID 6TLIGUMG Himieurill L g)?

(A) 1929

(B) 1957

(C) 1982

(D) 1978

Correct Answer:

[D] 1978

Reason / SITIJ680ILD:

Anna University was established in 1978 in Chennai as a premier center for engineering and
technology.

SI6TIIGHONT LIGLSHEMELESHLPSHLD ClF60T6060T H&HIFl6L 1978 QYLD o4 6501(H
Qurlufuied MMID CGTLAELBIL USHMEBTE (LPSHESTENLD DLOUILDTS
Hmieuiulr L g

Q.148) Who is hailed as the "Father of the Tamil film industry" and is known for producing and
directing the first silent film in South India?

G&: "glhlpG HempliuL g Glemmullet hemd" eteorm GCUTHMLULHLIEI]T
LMD QFeiTaNHAHWITONGT (LPGHEL 2a6mLDG SlMJLILL H60G SIS E)
@WISSWIeT ulmy?

(A) K. Balachander / G&. LIT6L&H&I]

(B) Dada Saheb Phalke / &M FTGaML LIT6LGES

(C) R. Nataraja Mudaliar / g‘w hLJT® (y)g,eﬁlu_lmj

(D) S. S. Vasan/ 6T610. 6T6N0. 6UITE 60T

Correct Answer:

[C] R. Nataraja Mudaliar / Q4. BLJTEY (L &0

Reason / SITIJ680ILD:

R. Nataraja Mudaliar is called the Father of Tamil Cinema for producing & directing Keechaka
Vadham (1916), South India’s first silent film.

Sl BLITE (LPKHEOWITT, 191660 &FE 6U&LD61651M & 6oT6sNHSITe6oT
(PGH6L 2amD FMTLULL H6mG QuIsHE SWMHESHST, “HLOIDS SHemFLLL &
SlmOUT6T SHenG” 6T60TM AHMLOSSLILIGE M.



Q.149) Which Chola king is famous for his naval expeditions that extended the empire to
Southeast Asia?

Co: e1hg G&MP 6TeN] QHTHNGG PHWT aueny CUITeng
aNfleuG S H6g SLDHUMLL LILNIKSE@p&HSTSHL LSHLPCILMMeNI)?

(A) Rajaraja Chola |/ QITegnmeg G&mLO6oT |
(B) Rajendra Chola |/ QITCRBAT CEMLP60T |

(C) Kulothunga Chola | / §GeOM& &ImIG CFTLHEOT |

(D) Aditya | / QY& GWI |
Correct Answer:

[B] Rajendra Chola |/ QTGRBEH Gampeo |

Reason / &IT[J600ILD:
Rajendra Chola |l is renowned for his powerful naval expeditions that extended Chola influence
to Sri Lanka, Maldives, Malaysia, Indonesia, and Southeast Asia.

QITCRHSH CEFMLPEI |, H6oT&H QUG SHLMLIHL L LILICTIRISETTEL
Gempy gL &emwl Qeomisns, DTewg e, LCeo&T, QbCHTCeor&wm
LOHMID CQHTHPEG ST eueny eNifleuBSSleur.

Q.150) Human brains having enactive, iconic and symbolic modes of representation — concept
formation by

QawievL(hhlemev, 2 (Heus Hemev WMMID GOWIL G Gumerm
HemevsHemaniemL LG D6sNS CLOEMEITILITEIS| S GLD 6T60TMD &(HHMS
2 _(IH6UMSHEIUIEUIT:

(A) Bruner / LI, 63T1])

(B) Pavlov / LUMeUGeLIT6YI)

(C) Piaget / LMLITGEY

(D) Thorndike / &ITIJ63T60L_5

Correct Answer:

[A] Bruner/ IJ(IBG'OTIj

Reason / SITIJ680ILD:
Jerome Bruner explained concept formation through three modes of representation — Enactive
(action-based), Iconic (image-based), and Symbolic (language-based).

QRGCrMD LeH6), H(hHSH 2 (HeUTSHSD cPTM Heneuser eupluims



BL&SEMG| 6161y — CFUIeLLI(RBHlémEV (Enactive), 2 (H6U& [HléM6L (Iconic),
&MU @G MHemev (Symbolic).

Q.151) Pre-operational stage is one of the important stages of Piaget's cognitive development
between

QEwe&HE WHULL Hlenev sterug LNMUTCRUT6 SiNeSHmest alarjgs
HemevsafleL 61hHG eUIS6n (h&HESLLILL §)?

(A)Oto2years /0 (LPGH6EV 2 QUWIG| UM
(B) 11 years and above / 11 @I LOOMID HSHDHGELO6L
(C)7to11years /7 (IPSHEV 11 QUWIF| €D

*(D)2to 7 years /2 (IP&H6V 7 QUUIF] 6U6DI]

Correct Answer:
[D]2to 7 years /2 (LP&H6V 7 6UILIG| 6U6M

Reason / &ITJ6UUILD:

In Piaget’s theory, the Pre-operational stage occurs between ages 2-7, marked by symbolic
thinking and egocentrism.

NwrGxuiest GCHTLUML 160, “CQFuIs&HE& (POHULL Hleneo” 2-7
QU6 (HHG6T HenL QUMIAMG!; QL GLPHenGH 6T FeT6uThIG6T CLACVLD
aHH&sHaD, H6sHCH 2l uTFameuuled Hh&Hésa D QFUISMITTSH6N.

Q.152) Physical development is .
2 L6V 6UAJ&FS 6T60TLIS) :

(A) Quantitative in nature / SIEMENIL_&&alq Ul &60T60ILD
(B) Qualitative in nature / &IJ SlqLILIEML_UTELIT6OT F60T60ILD
(C) Reflective in nature / NJEILIGOILIL &60T60ILD

(D) Continuous in nature / Qg,rrl_l']éeﬂu_lrrm g,a'ﬂsmu)

Correct Answer:

[A] Quantitative in nature / SIEMENIL_&&alq ! &60T60ILD

Reason / &IT[J680ILD:

Physical development can be measured in terms of height, weight, size, and motor skills, hence
it is quantitative.



2 L 60 6UEMTEFH 2 WIPLD, 6T6ML, 2 L 6L 66, QWISHSHE Hmeor
GuTeTmEUMMITEL SleMNIL &H8alq Ui, H&ECI Q&I “oaTe(h H60T6mLD”
2 ML LLIG).

Q.153) In Pavlov's classical conditioning, the unconditioned stimulus (UCS) is a stimulus that:
Lmedevelest UMJUFW ULP&SLILGESS60I60, HLhGHemest @eveons &esu(hge0
(UCS) 6T60TLIG)| 6THSHMBUI FHTTuT(HHEVMEGLD?

(A) Elicits a response only after repeated pairing / Lﬁ'ﬂfb'[@Lb LﬁGﬁM@Lb @6076601’5’{13 Ij]ﬂ)ca':

ufleneo gHUGESSID

(B) Elicits a response without prior learning / (Lp60T8aL_Ig LI &MHMEOl6TTMN LIGlemev
JHUGSSILD

(C) Becomes neutral after conditioning / ILp&&LUILMLSHNSSL LIMG
HBHEOHEOWITETSHTS LOTMILD

(D) Is the same as the conditioned response / @UE@@WUU@(&;Q’)IJUI;L u@gm_a'ﬂ
Cr LIHHWTE Q@HSHGLD

Correct Answer:

[B] Elicits a response without prior learning / (LDG&'[&QI;LQ.UJ &:mm@dﬂ@ IJ;ﬂGtDGU
JHUGSSILD

Reason / SITIJ680ILD:

In Pavlov’s classical conditioning, UCS naturally triggers a response (e.g., food - salivation)
without learning.

umeuGeomeisor LMFOLRIL ULPSSLUILI(RGSH606L, UCS (HLIhSHemenr 6LV
St (h&60) QUIDmSIITECE USHenew JOLUBSSHID (2T 2 606 —
BTeNemILIL), (P6iTFaLl lgul HNHMEL GCHMEUUNELED6L.

Q.154) Thorndike's 'Law of Effect' states that behaviors followed by satisfying consequences
are likely to be:

CamiyssTenL_s&l60r ‘llemeneyd FLL LU, S(HLUSH SO 6160616 5H6m6rTE
Q&MWL HL GH6MGSHET HSHLD CFULILLEHEUSDSHT6OT EUMLILIL| 6182

(A) Weakened / LIeueXeorLiLI(h & SLILIEGLD
(B) Forgotten / LOM&SLILI(HLD

(C) Repeated / L3sGOT(HLD Q& UIwWILILI(LD



(D) Generalized / QUH@GO‘)LDI'JU@’&:;,&;I'JU@LD
Correct Answer:

[C] Repeated / LBsGOT(RLD Q& uwILILI(RLD

Reason / &ITJ6UUILD:

Thorndike’s Law of Effect: Behaviors followed by satisfying results are strengthened and
repeated.

ComjeiTemL &Sl “elenaTeyd FL L LD LU, S(HLSSILOMET eT6m6rTeySHemerns
Q&ML HL H6mG &6 euILIGUMHM) WBeor(GLd CEunuiL@Lb.

Q.155) The Gestalt theory of learning emphasizes that the learner perceives things as a:
Q&eL ML HMMEL GCHTLUMH SOHMIBY CILITILET&HET 6T6lQITM)
2_6WIHMM 6T6oTLMS 6UOIL|MISHIHMGI?

(A) Collection ofindividualparts/g)wﬂf&;’&)“ﬂ U@ﬂ&:aﬂdﬂ Qg;ﬂ@ﬂl.l

(B) Whole or a unified pattern / (L) (LD6DLOWITS 36V G| €2 (Ih RIS 6EVTTTHS
61q.6115 6L

(C) Random set of stimuli / FTMM G6wo1(H&HEL&6METT GG MG LIL

(D) Response to a single stimulus / MMM GTEHI(HSHEVI ST LISI6L

Correct Answer:
[B] Whole or a unified pattern / (L (LQ6DLOWITS S16L6VG)] €2 (IhhIEI60 60T S

61q.615 6L

Reason / &ITIJ680ILD:
Gestalt theory says learning occurs by seeing things as a whole pattern, not just separate parts.

Q6oL meoL GamLUm(, HMMEL 6T6TLGI CILIT(HETSEMAT (L (LYemLOLITEDT
Qllq.e1l6L 2_uITeUGH60 CLPeVD HSLEMG), HelGHeN LGSHEHTs 1606V.

Q.156) The need to succeed, to excel, and to achieve a high standard is known as:
QeupmMCum, HmbHG eNaThis, MMID 2 WIJ §IHme LUl CauuLd
1601 CHemeu Qeuaimm SmPSESLULGHDGI:

(A) Self-Actualization / & 60T-2_6U011] &6V
(B) Power Motivation / glféﬂ&:l‘ﬂj &[_F)QJ’EJG\)
(C) Affiliation Motivation / @6060UTLIL| 2_[H &) 6L

(D) Achievement Motivation / &T&6M6UT 2_[H )56V



Correct Answer:

[D] Achievement Motivation / FT&6068T 2_[5 5|56V

Reason / SITIJ600ILD:
The drive to succeed, excel, and reach high standards is called achievement motivation.

QeummMCuD, HmHE aNeThS, 2 W HI&HmG enL Ul CeusmrGLd 61651
2 HEHIHEL “‘FNHM6M 2 HHIH6L” 6160TM)| SMPSHSLLGHMGI.

Q.157) According to Guilford's 'Structure of Intellect' model, intelligence can be classified along
which three dimensions?

ﬂsi)o“oGIJlTl']I;Lq.GéT 'ymm@aﬂm &L_L_6MLOLIL] (‘'Structure of Intellect') LDIT’éﬂIﬂI'JIJLq.,
hictotenoilene 6TH& CLP6TMI LIFILOMeImiSeMes SilqLiLemLuied
UMSLILI(H & SHEVITLD?

(A) Single, Two-factor, Multi-factor / Mémm, Qetor(h SHITIeseT, LI6v STyeuen
(B) Operations, Contents, Products / Q&FWIEOLIT(H&6IT, 2_61T6NTL_ S & MISET, 61160616 SH61T
(C) Componential, Experiential, Contextual/&a@j&im, gl@_IUG)_ILb, @QG\)

(D) Linguistic, Logical-Mathematical, Spatial / GILOMLAIUTLICD, &[] 5 &-&H6WNS,
AL EEMHS
Correct Answer:

[B] Operations, Contents, Products / QI&EWIEOLIT(H&6IT, 2_61TEITL_&S&RIGENT, 611606116 SH61T

Reason / SITIJ680ILD:

Guilford’s Structure of Intellect Model explains intelligence through three dimensions:
Operations, Contents, and Products.

&l60..CUMTLIq.607 “HletuisarNeN6sn SL L emLoLIL LOM&If, missomewidlened cLO6TM)
Ll mTesTRISeMesT g LiLemLUNed UmSLULGSHIADG: Q& weoUT(h&eT,
2 _6NMENML_SH&HMIG6N, 6066 &6IT.

Q.158) Who proposed the 'Group-Factor Theory' of intelligence, suggesting that intelligence is
composed of primary mental abilities like verbal comprehension and spatial visualization?

mistutenoile) 6T6oTLIG QOMLAIL Lflged MMID QL EpFMIHS ST SLILHESSH6L
GUITETM (LPGETTEMLD LO6TT FMETHATTEL Y60 TaTm Faml, 'G(Lp Syeveil
G&SHLUH@' (Group-Factor Theory) 6T68Tm 5166616601@6)_]65 GCamL_umL_enL
(LPEOTCILDMLAIH S 6T WIM?

(A) Louis Thurstone / e9uilery  &eroGL meor



(B) Charles Spearman/&l‘l’le\)Gf\) GT'\)Ij]u_II']GLDGfﬂ
(C) Raymond Cattell / GIjLO60OTL. G&L_1q.60

(D) J.P. Guilford / G&.19. &leL..GUITTL

Correct Answer:
[A] Louis Thurstone / g)_lTU.‘ﬂGT\) g;l']GT'\)GI_ITa'Yr

Reason / &ITJ6UUILD:
Louis Thurstone proposed the Group-Factor Theory, identifying Primary Mental Abilities like
verbal comprehension, reasoning, and spatial visualization.

smuileny GFeroGL e, “Gp Smyswth CamTLUTE” (WeTCLTAbhE], CILomAL
Lf1&e60, yLomend, QL @hFMHE STLALLGESHL GUITETM (LD SH6ST6MLD LD6IT
HM6OTSH6MET SI6OL_ITEMLD GH6VOrLTI].

Q.159) Continuous and Comprehensive Evaluation (CCE) was legally supported under:
QgmLys&Swmer wmHMID eNfleumest WHLNIEH (CCE)FLL F STs
PSS G| 61560 &HLp?

(A) NEP 2020

CHHW HeLaNS Q&TeTems 2020

(B) RTE Act 2009 Section 29(2)
@eveus LMHMID SLLMUS &Hevall FLL LD 2009, LNfley 29(2)

(C) Kothari Commission 1966
CEMHSMF 4 6M6UITLILD 1966

(D) NCERT 2000

Calw Hevall YImiFs wmmID LUNHE HeeiT&led 2000

Correct Answer:

[B] RTE Act 2009 Section 29(2) / @606u& WOOMID SLL MG &H6LaI FLLLD 2009,

Nifley 29(2)

Reason / &ITJ6UUILD:

CCE got legal backing under RTE Act 2009, Section 29(2), ensuring continuous assessment for
child-friendly education.

CCE&® SLL FaHwmer s re] eveus WOHMID SLLMLS &eoell FLL LD
2009, LNfl6Y 29(2) BLp HML 558 QFH GLHEDS BLL HLNSSTS
QaMLFFSwmer LHUS L 2 MG QFWLSDGI.



Q.160) Which of the following is the correct order of the hierarchy in evaluation?
LNeTeu(heueTeuMMEDL 618 SIS 19601 HEMEL(PEMM (Hierarchy) FIFIWLITEDT
6Uifleng?

(A) Test > Measurement > Assessment > Evaluation

Comgener — emall(hgHeL — WHUSE — WHLILMIE

(B) Measurement > Test > Assessment > Evaluation

sleme(hHeL — CeTHemssr — WHUSEH — LHULMIIEY

(C) Test > Assessment > Measurement > Evaluation

Cengemnent — LHUIH — SeTGHL — LML

(D) Assessment > Evaluation > Measurement > Test

LHIIE — wHuumie] — SR L — GCETSHen6

Correct Answer:
[A] Test > Measurement > Assessment > Evaluation

gflwimenr L&HeL: CETGHemenT — Senall(HHs0 — WLHLUNEEH — HUUMLIEY

Reason / SITIJ680ILD:
The proper hierarchy is:

o Test (GC&M&6mEDN): Tool to collect data.

e Measurement (gqms)fﬂ@g,si)): Assigning numbers/quantitative value.
o Assessment (LD&ILIS(E): Interpreting results for learning progress.

e Evaluation (LDQI;IIJI'I'U'_IG)_]): Judging overall effectiveness or value.

gilwimest euflemns:
Cemgenenr — emall(hgHed — HUSIE — WHLILMUIE.

Q.161) A Mathematics Readiness Test to predict performance in Algebra is an example of:
SLQKLITaNeL CFWELH MM H6utN&HS LweTURSSLLUGBLD SH6ueNsHs
swimjhlemne CeMgemest e T(HHHSHHMTL(b:

(A) Achievement Test

FN5Heneog G&meg emneo

(B) Aptitude Test

Hmerey C&mgen 6ot

(C) Diagnostic Test

CrmwmMigeL C&mgemest



(D) Prognostic Test
(P60TGaL 1985 SHewnLiIL C&mgement
Correct Answer:

[D] Prognostic Test / (LP60T&al g & SHeuuNLIL C&ITg 60601

Reason / &ITIJ600ILD:
A prognostic test predicts future performance (e.g., readiness for Algebra).

W6TFaL 198 SeutLIY C&m ement, LOMsuaTeUIfledt sTEHTHTeL C&FUI6L Slmem 6ot
SEM&HSL LWeTUBRS DS (2 STIEID: HLCIQLTT SMHMEVISHST6oT
SWmyhlenev).

Q.162) Who is known as the father of the Great Man Theory of leadership?
sUQUflw 6fl&T CHMLLIML L 63T (Great Man Theory) HE0& UITHTSHE

&HSLULEHDM?

(A) Fiedler / .lSL_6VI]

(B) Thomas Carlyle / DN SITJMEVED
(C) Kurt Lewin / G spmexeor

(D) Max Weber / GLD&6rv  GleLy

Correct Answer:
[B] Thomas Carlyle / g;lTLDd\) &:ITIjGIDG\.)Gi)

Reason / &IT[J600ILD:
Thomas Carlyle is regarded as the father of the Great Man Theory, which states that leaders are
born, not made.

STV SMJene0ed “NSLQUFlL 6fET CHTLUML g 60T &heng” 6Teur
SIMPSSULGHDOTT; Qb CHETLUTEH Hemeveaufser LNmLNGeoGul
2_(HUTSMITI&H6N, 2_(HheUTEHSLILI(RAUSELMEL 6T60TM)| FoMISME).

Q.163) A student reflects on their learning strategy and revises it for better performance. What
type of knowledge is this?

(A) Factual
(B) Procedural
(C) Metacognitive

(D) Conceptual



Correct Answer:

[c] Metacognitive / GILOL_L_MT&T&60TIL_1g 6)1 6

Metacognitive knowledge refers to awareness and regulation of one’s own thinking and learning
strategies.

QL L T&r&elll g6l SiMley 6T6TLG ep(heuflen QEMhHe HhGHenes LOMHMILD
SOMeL 2 GHleafett L6 LOMILD €(LPMIG(LPEMMEMIULIS
GMNSHMI.

Q.164) The term Curriculum is derived from a Latin word “currere” which means:
(A) Toteach

(B) Torun/racecourse

(C)To learn

(D) To read

Correct Answer:

Answer: B) To run/ racecourse / @@56\) / uL'r,g;u_uLl LUmend
Explanation: “Currere” means to run or racecourse, symbolizing a planned path for learning.

“Currere” 6T6OTMMEL 62(HHEL I6L6VG LUHGIWIL LITewG 616t CILIT(H 6T, Q&)
SMHOVISHSTEST SILLLOILUULL UTenGenuld GSMSHME.

Q.165) Which principle of curriculum development encourages addressing various learning
styles and preferences?

UTLSSHLL euenj&&ule 6hHs ClaHmemsnsd LeLGeum SMHMEL LImesen&el
LOMID aNGLUURISEET DSIITET 26185 GaTN&HHME)?

(A) Balance / &L0IHl6m60
(B) Individual Differences / 6OTILILL_L. Geumium(h&er
(C) Utility / Liwteotum(p

(D) Relevance / GQIUIT(IF & &LD

Correct Answer:

[B] Individual Differences / S6vflLILL_L. GeumiLm(haei

Reason / SITIJ680ILD:

This principle ensures the curriculum meets different learning styles, abilities, and interests of
students.

AH%HS CQ&MeTens, LOMeuTeUISen6s NGINGLOMETT SMHM6L LIMTEINS6T, M6,



LMD eN@GLUURISET L THS QFWLIWD alensuiled LUTL S L Heng
g UEMLDES 2615 GNNSHME).

Q.166) Project-based, real-life learning in curriculum best reflects which approach?
S L siglitenL_uleomen, Hy aUMDEHME SMMEL 6THG IEM)E (LPMMEDLL
Souurs NySHUed&HEHMmSI?

(A) Logical/ §J&&IJ Slimenr
(B) Spiral / &LD6V
(C) Unitary / é@2(Ih60LD

(D) Topical / §606VLIL
Correct Answer:

[C] Unitary / 62 (IH60LD

Reason / &ITIJ680ILD:
Project-based, real-life learning integrates subjects into a single unified experience, which is
the Unitary approach.

S L siglitenLulleomen, Hgy eUMP&HmMS SMHMEL LI LML RKiGenen Gl
@DMM SIMILIQILDTS 62 (HRIFNENEHGLD; QFHIC6U “6(HEMD DG (LPEOD”.

Q.167) Which institution leads the national Virtual Labs project in higher education?
(A) ITBombay

(B) lISc Bangalore

(C) IIT Delhi

(D) NIT Trichy

Correct Answer:
Answer: C) IIT Delhi / IIT Q6L

Explanation: IIT Delhi coordinates 10+ institutions in developing Virtual Labs, offering simulated
practical experiences for college students nationwide.

IIT CIL6LE0 10+ HIMICUETTRIGENET 62(IhRIKlENETSHG CIOWIRSG] Y UIOISHHISE 6T

2 (HUTEGAMG!, BTEH (L (LPEUGID SOV LOTETITEUTSEhSE
2 (HeUSLILESSUILULL HEOL (PMD SiFHILMKIGENET QULDRIGHME.



Q.168. Which toolis India’s first Al-powered teacher robot?
(A) Vedabot

(B) IRIS

(C) EAGLE

(D) AARNA

Correct Answer:
Answer: B) IRIS

Explanation: IRIS is Kerala’s teacher robot, capable of interactive 3D content delivery,
simulating real teacher-student exchanges via Al.

IRIS 601 Cagenmeilest AMuwy ComGum o,@&LW, & a1 _mHLD 3D
2 616 &5 QUPMIGMELF QFWILILD SMesT CSTEUIL &I, Al CLHEVLD
2_6UTEmLOUITEOT oY, Aflwlj-Lomeuoredj LIFILOMMHMMISEN6T 2 (heUSLLGSHSMSI

Q.169) TPACK was proposed by:
TPACK (P 60TQILDTLANH & )T &H6T:

(A) Mishra & Koehler / LOlerOIT & G&MTQM6LIY
(B) Skinner & Crowder / @V &\60T60TI] & &6 LI
(C) Morrison & Hunt/ LDITIﬂ&GéT &m)@:OTI'_

(D) Gagné & Krathwohl / &ITG6IT & HIJTHGeUT6L
Correct Answer:

[A] Mishra & Koehler / LBI6NOIIT & GHTOM6VLIT

Reason / SITIJ600ILD:

TPACK (Technological Pedagogical Content Knowledge) framework was proposed by Mishra &
Koehler.

TPACK (A& MLAIGLHIL L-&MLNGS60-2_6TaTL_&8 i6Y) SiemLLisnL e
LOMID CHTOMELT (L ESTELDTLANH S 60T

Q.170) Which platform is India's main MOOC provider and also serves as an OER repository?
(A) SWAYAM Prabha

(B) Pathshala

(C) S WAYAM

(D) e-PG pathshala



Correct Answer: C) SWAYAM

Detailed Explanation: SWAYAM is the Government of India's flagship MOOC platform, offering
thousands of courses for schools, colleges, and professionals in various Indian languages.
Beyond courses, SWAYAM houses educational content developed with public funding, open to
all—a key OER (Open Educational Resource) repository for India.

SWAYAM 6T60TLIG| @S SITEI60T (LPSHESTENLD MOOC GENLDMGLD, LieTTaf&er,
&6LQVIM&6I, LDOMID QG (PEMM ULNIBIHEFHES LD QHEIL
QTLHISeNeL SuNT&eHauSSTe LML COBMISmeT QILNHIGSHME.
UTLQBMISER&HE SILIUMED, QUITEl HHu|GeTu|L 6T 2 (HeUTHSLILLL &H606)
2 (ML 555608 M6UGHS(HEHMEI, QG HMETUHEHGSGL HMhSem6r—
ABHWTNNGS €(H (PSS OER (HMHG &6V 66T &HeTEhFILILDMGLD.



GENERAL KNOWLEDGE

QU M6y

Q.171) The first Indian to become a member of the British Parliament was?

Nl g6 UMITEHLEIMSSIL 2 MILINCTTIT6N (NGO @QBSILI WImy?
(A) Mahatma Gandhi / LOSTSLOM SMH

(B) Dadabhai Naoroji / STGTUML GCHenGrmed)

(C) Subhas Chandra Bose / &LITerv &h&ly GLITerv

(D) B.R. Ambedkar / 1.8} []. SILDCLIG &I

Correct Answer:

[B] Dadabhai Naoroji / TGTUML QBHenGrme)

Reason / SITIJ680ILD:

Dadabhai Naoroji was the first Indian elected to the British Parliamentin 1892 as a Liberal Party
candidate.

STHIUML QBHenCrmel), 1892840 S 6u01(R 60ILITeL SL& Geul_Umerymss
Coines (G &HaLIUL (h, Nl igee UTFTELLaImSSHL 2 mILN6TITes (Lp&H6eL
QBSILIT 6oy,

Q.172) Which was a military title during Sangam Age?

Fhis &TLHHEL QIRISIULL @nmamell UL LD 61%?
(A) Poligar / LUTE®EMLIS ST

(B) Perumakkal / QILI(TH LD & G 61T

(C) Enadi / 6T60TITLg.

(D) Manigramattar / LDGSSTI ST ITLO & & T[T

Correct Answer:

[C] Enadi / 6T60TITLG.

Reason / SITIJ600ILD:
During the Sangam Age, Enadi was a military title given for valor in warfare.



FMISSTVGH6V, sTs07rTlg 6T60TLIH CUTTSHMEMLDSSHMS ULPRISLILIL L. QrmeumieL]
UL L LD o4@SLD.

Q.173) The Directive Principles of State Policy (DPSPs) in the Indian Constitution were inspired
from which country's Constitution?

AnHW SITHweLEmLOLINE 2 6o LOMHEVS CS&TETeNS CHTESMIGE 61HS
BT 1601 FHIevemOLINeL @Q(Bh& UTHLL QUDME?

(A) United States of America / SICILDIl&&IT

(B) United Kingdom / @\RI&Ie0MH &)

(C) Ireland / SIWIJEOMHG)

(D) Canada / &63TL_IT

Correct Answer:

[Cllreland / gqu_u']a)rr[r,g

Reason / SITIJ680ILD:

The Directive Principles of State Policy (DPSPs) in the Indian Constitution were inspired by the
Irish Constitution (1937).

Qb syfweosnloLitlen WMHeVsS C&TeTems CHITSHEMRIGENT, 1937
SlFeonHS SIT&ulesnLIED Q([HHG 6T(hSHISCSTETATLILIL L 66,

Q.174) The highest peak in the Aravalli Rangeis ___.

sigmeuetail meLGHESTLIfl6L 2 WIFLOM6T HSHILD 6182
(A) Mount Abu / LDE6TUTL- 4L

(B) Anamudi / &4,68T(LPlg.

(C) Doddabetta / GLTL QUL_L_IT

(D) Guru Shikhar / @ (I, &S]

Correct Answer:

[D] Guru Shikhar / & (I, &&I]

Reason / SITIJ600ILD:

Guru Shikhar (1,722 m) is the highest peak of the Aravalli Range, located near Mount Abu in
Rajasthan.



G &) (1,722 10) 6T60TUG JTLQErVGHTEEN6L LDEGTIL. SpL| Si(HE6L
SIMLDHGI6TT6N, SiTeU6Ternl LDemeLSHEGTLfl60T 2 WIFLOMET HSFLD Y GLD.

Q.175) Which of the following is classified as a primary pollutant?
LNeoT6U(IH UETTEUMMICL 61FH (LPSHESTENLD LOMHLI(BSHSHILITS
UMmSLILGSHSLLGSMEI?

(A) Ozone / 6 G&ITEBT

(B) Smog / |60 &CLPL_L_LD

(C) Sulphur dioxide (SO,) / HhHS ML Y &HMEF(H (SO,)
(D) PAN

Correct Answer:
[C] Sulphur dioxide (SO,)/ &H&H& ML Y &HM&(H (SO,)

Reason / &IT[J600ILD:

Primary pollutants are directly emitted from a source (e.g., industries, vehicles). SO, is a direct
emission, while ozone, smog, and PAN are secondary pollutants formed by chemical reactions.

WG6sTEnLD MGLGSHSH & ChIlgUITS €LH6vSHSe0l(HHE)
QeueMuilL L@ &letmen (2-T: CQHTLHMEF TNV, OUTHEIRIGET). SO, CHlq
QeueMui(h oG LD, 60160 6 GEMEIT, L& L L LD, PAN Sy, &lisned @T6oTLTLD
hlémev LOM&LI(HS S\

Q.176) On which date is India’s National Sports Day celebrated?

@nHuwiransr CHEAW elememuml_(® [BTeT6ThS HiTeaTed
QamesorL_mL_LIL(R S m&I?

(A) &IO60T 23 (June 23)

(B) S &HEMVL 29 (August 29)
(C) 6JLIT6L 6 (April 6)

(D) QFLIL_LDUIT 5 (September 5)

)
)

Correct Answer:

[B] August 29/ QL &HEMVL 29

Reason / SITIJ680ILD:

India celebrates National Sports Day on 29th August, the birth anniversary of hockey legend
Major Dhyan Chand.



@nsHwimaled CHHAW aemanim_ (B HIT6T QL&EMVL 29 Sl6TM QMTSHE
BTGeT GLORT STt &hd LNMHS BHrenear Hleneuedoaljbal
Qa e mLUUB S MS).

Q.177) Which among the following organisation released Multidimensional Poverty Index in
India?

@nHwimalled Lew uflnme eumiend Gl enL Qeuafui L NesTeupLDd
SlMLOLILGENEL 618)?)

(A) NITI Aayog (BI&) o, Culms)
(B) Ministry of Economic Affairs (QILT(HEMTSHTY eX6USBMT] SHMLDFFEHLD)
(C) National Statistics Office (G LjeraflaNleu] SienIaue0&LD)

(D) Ministry of Internal Affairs (2_6TT&HIEMMD SEDLOFFHLD)

Correct Answer:

[A]NITI Aayog / H&) o4, ClLITE

Reason / &ITJ6UUILD:

In India, the Multidimensional Poverty Index (MPI) is released by NITI Aayog, using UNDP and
OPHI methodology.

QnHwreied, Lev uflmemT eumientd Gl (MP) K < Cuwimé
QeueMuNGEMS; & UNDP LOMMID OPHI (LPMMENUI 3iiq LILIEHL UITEHES
QSBTEIIL_G)|.

Q.178) Who is known as the "Moon Man of India"?

QnHwreedt "FhdHrest NS 6T60TM SMLPSSLIL(HLIOU]T UIT)?
(A) Dr. K. Sivan (LT&LI] G&. &eueor)

(B) Dr. Mylswamy Annadurai (LIT&L_[J 60LD6L&EUMLO SI6TII6UIIT &I601))
(C) Dr. Vikram Sarabhai (LLIT&L[] e&IJLD &FIJMLITLL)

(D) Rakesh Sharma (JGLD6Y &IJLO)

Correct Answer:
[B] Dr. Mylswamy Annadurai / LT&L[J 60LD6VL&EUMLO SI6TO16UDIIT &)60)(]

Reason / &IT[J680ILD:

Dr. Mylswamy Annadurai is called the “Moon Man of India” for his key role in Chandrayaan-1
and Chandrayaan-2 lunar missions.

EhHETUITeT-1 LDOMILD FHSHTIWITEE-2 HIL_L MiGafled (LPSHEI LRIG



UHGHHHTEL, LMELI] MLDELEEUMLD SI6TUemIT&HIen] “@bHwimeilen &balyest
D6V 6T60TM) SMLPSHSLILIRH DI

Q.179) The difference between the compound interest and simple interest on 310,000 at 10%
perannum for2yearsis___.

310,0005@& S6001(H 10% QUL IqUN6L 2 Y (h&Eh&HSHT6N Fal (B 6ULLg
LOMID eTafll el lg NGSHITFLD 6T6lAIATE?

(A) X100

(B) X250

(C) 3200

(D)%150

Correct Answer:
[A]X100/%100

Reason / &IT[J600ILD:

= Simple Interest (S):
S = P\I{;;:ﬂ' _ 1-Z]||l'allll:;”1||~1 — FI000

=  Compound Interest (CI):
CI = I’{l + %]I — P = lﬂﬂﬂﬂ{l.lj? — 10000 = 10000{1.21 — 1) =
22100

# Difference = Cl- Sl = 2100 — 2000 = 100

Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural Development

(B) National Bureau for Agricultural Research and Development
(C) National Authority for Banking and Rural Development

(D) National Board for Agricultural and Resource Development

Correct Answer:
[A] National Bank for Agriculture and Rural Development

Reason / &ITIJ600ILD:

NABARD is India’s apex bank for agriculture and rural development financing, established in
1982.

NABARD 6T60TLI&I 198260 HMIeUUILL L, efleugmul mmIitb Hmollm
Cuur_ (G HH alphGD @hHWTalsr 2 & Uhid S ELD.
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